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( Major )

Paper : 5.5
( History of Economic Thought )

Full Marks : 60

Time : 3 hours
The figures in the margin indicate full marks
for the questions

ither in English or in Assamese

Answer €1
1. Answer the following as directed : 1x7=7
e TrRERed e SEpTICd 84
(@) In France, mercantilism was known as
anelis . ( Fill in the blank )
w3ore SN TR & (ol |

(e o1 7 )
(b) Give the meaning of the term
physwcracy

‘oo > o o o |

(c) Who described rent as 2a ‘monopoly

pr1ce ¥4

R T 31 e iR 2
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(3)

(2)
(d) Who has been described as the founder 3. Answer any three of the following questions :
of modern demography? 5x3=15
mﬁammwmmgﬁ@%iﬁwm i ERE R e oo e it :
iy (a) Explain the factors responsible for
(€) Define ‘iron law of wages’ downfall of mercantilism.
TR 3o e SRR T PR R PR I
(9 What is individualjsmo 4 |
e
(@ Gi i) (b) Discuss the Ricardian theory of value.
g lve the concept of scientific socialism. - e
79 41MeoT foa | :
(c) Discuss the Malthusian theory of gluts.
2. An TG SRAT ©GLo! S F4
y swer the f H o y . .
M. ollowing questions in brief : 2x4=8 (d) Explain the Marxian theory of economic
. il fesn development.
(@) State two factors that . . _—
mercantilism, gave rise to Tl SAfoT T o1
SEy e of the following questions :
(b) Write two advantage :W | 4. ARSTEREPY (R 10x3=30
. S i s
fl:;baur In context of Smish division of adlh ] SR T A -
W T iy : el
b
ford | ﬁEW E‘ET ‘{ﬁtﬂ (@) Discuss Quesnay’s concept of net
' lain its circulation
(¢)  Mention two implicatio product @d i1 f the societ
markets. ns of Say’s law of among various claSS‘;;; y.
LIRS EIGITIESEIREIRS
5’9 359 R[Rfiq w7 TLAMT
U e DR ap— Wfﬁm@mwmﬁmﬁm
(d) State the Marxian theory of yq el
T34 O alue. EHRI]
( Continued )
e



(4)

(b) Outline the Smithian theory of
distribution.

ﬁw%#%wwwu

(¢) Critically examine Malthus’ theory of
population.

TS SPRY YR FICaATer (!
|

(d) Examine Ricardo’s comparative cost
theory of international trade.

W’WWSWWWWW
I |

(e) How did J. s. Mg combined and
modified the teaching of Smith, Ricardo
and Malthyg?

(&, @, figs QT Paw, Reere? s =2
ﬁ?ﬁﬁﬂ?{q&?ﬁ&?\smﬁmﬁ%?

() What is SUrplus value? Distinguish
between C-M-c and M-C-M’ in the
context of the theory of surplus value.

SO L
C-M-CWM—C-M“EWWW forefy <41 |

* A ok
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Paper : 5.6

( Development Policy and the Indian
Economy )

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks

for the questions
Answer either in English or in Assamese
Answer the following questions : 17=7
o i eppTEd T o
calculated

(@) Name the person who
national income in India for the first

time.
sEes 249 TR e g S AT I

e A e |

(b) According to 2011 Census, what was
the sex ratio of India?
q03d q R T Sed foiRel ST
e onfed ?

(c) Define poverty gap-
ﬁ%maaﬁ¢$aﬂ@mﬁﬁml

(d) What is food security?

4 e 2
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g (3)

(e) Write one important objecti
ceforen in HSHT objective of land 3. Answer any three of the following : 5x3=15
SR SfY TR 51 e S e | oo frarcara f e fofem Taq fodl -
() - Menti _ (a) Explain any five features of India’s
ention one major problem faced by national income.
;mf"e“terpﬂses of India. sEeq 8% S R Awo P
9 Z:i; SRR SERA @Rl 9Bl 2y 2917 4 |
TP SCE 41
(b) Suggest five measures to check the
(g) Write one point of difference between rapid growth of population in India.*
large and medium industries. SREq @O GPRAl @ IR Aol
TR SF TGN TP FEd b A1 B | o SISRCerl |
(c) Explain the causes of poverty in India.

SOq Mo PR W T

2. Answer the following questions : Ix4=8
weTs firal ZPPTYZE TG for4 (d) Suggest five measures to improve
agricultural productivity of India.

SRt RN TeoAEREel THo R O

(a) Define birthrate and death rate

Ll I S 0 I AR T SSRCE |
(b) Write two causes (e) Explain briefly the importance of
of : i
unemployment in India. SanRELEd ;r;(éll?;trles in the development process of
CIEISE ] 3 ;
e T 61 P forar ror S o SCHTE G VR
Y A0

(c) Pf)inF out two main limitations of public
distribution system in India.
N S EBT e 4. Answer any th
SfE e e e ol ok

ree of the following : 10%3=30

(d) Mention two important features of the (@) Discuss the basic features of Indian
10

Industrial Policy of 1991, ‘economy-
a3 Bl
s53 B Qi AR 151 awerd i o SRS 771 CFEPRR S 1|
TR 41 |
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(b) Explain the different factors
responsible for inequality of income in
India. Write briefly the various
measures taken by the Government to
reduce inequality. 5+5=10
515 1CE S 2t ) B S = S )
fafea TAMFPTR IR 90 1 SISl ZPT FRACE
BIRIA 2129 41 S SoAmpiz o0 e |

(c) Discuss the major Dbarriers to
agricultural growth in India. 10

S[ed $fI AT 24T TR SO 4 |

(d) Analyze the positive and negative
impacts of Green Revolution in Indian

agriculture. 5+5=10
SRey FRC CTo8 Rgeq N TF 4
ASTPTIR FIRAZ (7341 |

(¢) Critically discuss the role of large

industries in India’s economic
development. 10

SRET ST TS 28 TupE g
SACAGATSTSIC SIS <1 |

(/) Compare the industrial development
strategies of India in the pre-reform and
post-reform periods. 10
AGIFR HE  WIAGT  IEE ST
SR T CFEPTTR Perell <541 |

* &k %
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